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1. F=fef@a & O 39 ge8 e %@H—W K CEC) ? The most electronegative

element among the following is
[A] Sodium [B] Bromine

[C] Fluorine [D] Oxygen ,
2. Ueh Tl 9erd &1 aT9AT U 23l Sl e & v ST ardy ST a1fgv ar § The

heat energy required to raise the temperature of 1 kg of the substance by 1K

(Al fafree Fear Specific heat [B] oI &IHdT Thermal capacity

[C] S& ded Water equivalent [D] 3IWRFIHH ﬁé 78T None of the above
3. §Z8ITIg# 38371 & The hydronium ion is

[A] H' [B] HO

[C] H [D] H;O"

4. afe el 31fAToRar S qout FvAT UecAss § A 98 § If the Enthalpy (heat) of a reaction is
positive, it is

[Al  Fsaemady HfARFAT Exothermic reaction
(B] 3TaeHT ITATHAT Endothermic reaction
[C] &1 Fereneddy 33K ATEY 3TaRIRAT Neither exothermic nor endothermic

(D] T dt FSHEREIT T TAIRAT Either exothermic or endothermic

5. 3THITAAT T 3G SH UshH ¥ gIdT & Ammonia is manufactured by
[A]  Haber process
[B] Hokker processs
[C] Ostwalds processs
[D]  Beckmann process
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6. TAfSRT T Silicone is
[A] 3HdIg & An element
[B] U g TSI R,Si0 GoRTacish 318 & A polymer containing RoSiO repeat
units

[C]  Ueh Al ST ST Y 37¢T FaToleh 364197 7 39AET §IdT ¢ A crystalline solid

used in semiconductor industry

[D] U W 3c41E A natural product
7. SN & T AS 94 € Chemical formula of Borax is

[A] H;BO;
[B] Na2B407.1 OHzo
[C] NaBO,

(D]  B20;

8. For the titration of 10mL solution containing Fe** ions in acidic medium, 15mL of 0.02M
solution containingCr,04> ions was used. Calculate the molarity of the solution containing

Fe?* ions.
[A] 0.36M
[B] 0.18M
[C] 0.09M
[D] 0.10M

9. g 311 TEUR hraf E3TIe § The most stable carbocation among the following is:
[A] (CH3)3C+
[B] (CH;3)CH"
[C] CH;CH,
[D] CH;"
10. RAeafaf@a & @ fras Ul_gf iﬂ?;f T %’ Which one of the following contain metal-
metal bond?
[A]  Cupric chloride
[B]  Stannous chloride
[C]  Mercurous chloride
[D]  Mercuric chloride

11. #fFef=T CO, FT AR Teardl WA /[T T & The molar entropy of crystalline CO, at
absolute zero temperature is

[A]  Zero
[B] -Rin2
[C] RIn2
[D] 2RIn2

12. RIS e Falaar HET 6T & Which of the following is not correct about diamond
[A] &RT Eq\g o ST 37ATele & Diamond is a non conductor of electricity
[B] IE EITIh ®9 § AT § It is chemically inert
[C] SHHI UG § gd 3178 § Its refractive index is very high

[D] TS ST THIOT SP2 § Hybridization of the carbon is SP2
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13.3@3@? g Fiee fr éﬂé %’ The unit of Universal gas constant is

[A]  JK'mol [B] JK'kg!

[C]  Jmol [D] None of the above
14. I o Na, SO, % TafeAISTet & 3ierieh & A Vant HofPs factor ST Y 311f0deh geaarer &
0T & foIT 3maeash TIEE Ifaisthe degree of dissociation of Na,SQy, the Vant Hoff’s
factor (i) used for calculating the molecular mass is

[A] l+a [B] 1-a

[C] 1420 [D] 1 -2«
15. W%ﬁﬁm%m@ﬁwﬁwﬁ?%@maﬁra HhdT § The method that

cannot be used for removing permanent hardness of water is

(Al 3mrer fRfS# T Ton exchange [B] 3f1Hdd Distillation

(€] :F»:(ECEF ST &1 Taye Adding caustic [D] Fa% Boiling
16. CH,=CH-CH=CH, T IUPAC #TH § [UPAC name of CH,=CH-CH=CHj, is

[A] 1-butene [B]  2-butene

[C] 1,3-butadiene [D] 1,2-butadiene
17.0.001 M HCI &TpH & The pH of the 0.001 M HCl is

[A] 0.001 [B] 3

[C] 107 [D] -3

18. AT @d & & o D & I ek e § forqenT At goi¢ g seads

37TATI=aT 81T & 2 Which one of the following compounds contains a cation having non-
inert gas outermost configuration?

[A]  NaCl
[B] Kl

[C] CaCl
[D] CuCI2

19. ST 7 Wew, gl 3R SelegleT S TEAT AT Calculate the number of protons,
neutrons and electrons in Bromine (atomic number:35, Mass number 80)

[A] e 17, 3@[7*@7?[ 18, m@?r: 80 No. of Protons: 17, Electrons:18,
Neutrons:80

[B] e : 35, SolFgld : 45, o-q‘\g:ld : 35 No. of Protons: 35, Electrons:45,
Neutrons:35

[C]  ICI : 35, Selarere : 35, ¢l : 45 No. of Protons: 35, Electrons:35,
Neutrons:45

[D] e : 45, Eﬁﬁ'ﬂ' 235, W : 45 No. of Protons: 45, Electrons:35,

Neutrons:45
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20. &g 3 TRATH 22g CO, 3G o [l 3T T T T0T3HT & 0T Y

Calculate the number of moles of methane required to produce 22g of CO, after combustion
CH4 (g) + 20, — > CO2(g) + 2H20 (g)

[A] 0.5 31H 37T 0.5moles
[B]  0.25 1A 39T 0.25moles
[C] TWHIATH AT [ mole
[D] SWRFIH I Eﬁé wTgInone of the above
21. g Tl §T YRUT I & Liquids assume spherical shape to:
[A] ZolT ! i el o ToIT To lower the energy
[B] Y& &1Fthel &l 9Tl & TIT Increase the surface area

[C] TSI 3-10;[3-1? T I&IT g&Te & TIT To increase the number of molecules on the
surface

[D]  3WRied THT All of the above
22. faeafaf@a 3raua &1 aifcas a3 %aﬁg@%ﬂﬁ oTaTTT Arrange the following

elements in the ascending order of metallic character Si, Be, Mg, Na, P

[A] Mg<Si<Be<P <Na

[B] Be<Mg<P <Si<Na

[C] P<Si<Be<Mg<Na

[D] Na<Be<P<Mg<Si
23. faeAfeiaa & o fohet 3-TU;I'3ff T T aﬁiga 31TEI;Uﬁ' & Which one of the following
molecules has a permanent dipole moment?

[A] BCl;

[B]  para dichlorobenzene

[C]  paradihydroxy benzene

[D] CCly
24. AEIH 3BT O HT pH AT Y TS, 3T 37l T pKa 4.76 R ATIH

EASIFATSS I pKy, 4.75 & Calculate the pH of ammonium acetate solution if: pKa of acetic
acid is 4.76 and pKy of ammonium hydroxide is 4.75.

[A] 10.51
[B] 475
[C] 4.76
[D]  7.005

25. H,S T Tl 3 U+ o1 32 fjAieh 3R 3o Faeiish $6 HROT A & High freezing point
and High boiling point for water, compared to H,S 1is due to:

[A] BTS8Iel HeYel Hydrogen bonding

[B] 9SS dIelld Surface tension

[C] faafRa @festt $r 39U Presence of dissolved minerals

[D] 3WRed qA aﬁé &l None of the above
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26. CuS04.5H,0 H fhceT gr83Ield —aaTetd qﬁ-ﬁgﬁiﬂt’l% How many hydrogen-bonded

water molecules are there in CuSQO4.5H,0?

(Al 5

[B] 1.5

[C] 1

[D] 2
27. Kl gl ﬁWng KO, & 3TFTeRIoT 37aEAT FAT %’ What is the oxidation state of K in the
superoxide, KO,?

[A] +1

[B] +4

[C] +2

[D] +3

28.2,3- STSFAR sgo H fhy YR ol HATGI T fe@dll & Which types of isomerism is

shown by 2,3-dichlorobutane?
[Al  3fafs«T BRAHA Diastereo [B] 9ehreflT Optical
[C] - SIIfAATT Geometric [D] T{ATCHS Structural
29 fAfaTad 7 & e 3= & 3T 31 3Tad#d § Which one the following ions has

the highest value of ionic radius?
[A] Li" [B] F
€1 O [D] Bs"
30. 337 gfaRredt et Buffer solutions
[Al  &r pH E'JEI'?TT 7 8RT Wil always have a pH of 7

[B] e & Sifad da! & 91 SiTd & Are rarely found in living systems

[C] pH daT ot % ST 3578 37FeT hl STST ST ? Cause an increase in pH when acids are added
to them

[D]  3mferer &R pH sRER WA & Tend to maintain a relatively constant pH
31. a-D-(+)-?FI;EET~,?f 3R B-D-(+)- mﬁa & o-D-(+)-glucose and B-D-(+)-glucose are

[A] T&®YT Conformers [B] UYHT Epimers

[C] TATAT Anomers [D] UATHHITER Enantiomers
32, 3?\31? W TIFCH F AT G&F T % ¢ In the electromagnetic spectrum, the order of

wavelength is

[Al ammaT faRRoT < X FoRTOT < RISTTAI<eed Wehrer <37aed Gamma ray < X-ray < Ultraviolet
< Visible light < Infrared
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(Bl amaAr fReor > X 0T > WEIE > €T YR > 3alFd Gamma ray > X-ray >
Ultraviolet > Visible light > Infrared

[C] amer fBRoT < X 0T < &I > T Yhier > 3aRFd Gamma ray < X-ray <
Ultraviolet > Visible light > Infrared

[D]  amaAr fRgor >X fROT > WRETET < 79T YH1T < 3RFT Gamma ray > X-ray >
Ultraviolet < Visible light < Infrared

33. FIEfa AT IFATES & FGUT o TGH H T TR TRAT gfadT FIfe HiT 3717 gsdr § | 3y
el Al HIFASS & WGUT I GEAT A AT S, areht Hef bl TATT @ 8T, ar

37TRTSHAT ST & &1 A reaction was found to be second order with respect to the concentration

of carbon monoxide. If the concentration of carbon monoxide is doubled, with everything else
kept the same, the rate of reaction will be

[A] FIS SGold Ag Unchanged
[B] E\"I?FT Doubled

€] &= T Tripled

D] =R AT Quadrupled
34, ST ATH Fgar § i R a9 w, 9 F ARTT gead T F7 3T Boyle’s law

states that at constant temperature, the volume of a definite mass of gas is

Al ge® m@qﬁﬁ 81T & Inversely proportional to its pressure

Bl g Hesh ] qTciT 81T & Directly proportional to its pressure

[C]  zgFcEF FT giarg Equal to its pressure

[D]  3q3tera & & IS &l None of the above
35. Ueh YTIeTd sRTeX &1dT § One percentage is equal to
(Al 100 drdr& 100 ppm [B] 10,000 9rdYa 10,000 ppm
[€]  1,00,000 &rd& 1,00,000 ppm [D]  10,00,000 S 10,00,000 ppm

36.faFaorad & & fohgeh IMA3MUTEAT Ueh & Which one of the following has Molality equal
to one?

[A] 36.5 gm HCI 500 ml 9T=AT # 36.5 gm of HCI in 500 ml of water

[Bl  36.5 gm HCI 1000 gm 91T 3 36.5 gm of HCI in 1000 gm of water
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(€] 365 gm HCI 500 gm 9T & 36.5 gm of HCI in 500 gm of water

[D] 392 & & IS FEF None of the above

37. AT & & Sier A fAfer & o THeg o Heelwor & T 31X =1 €1 Jererepor & fow

ngal %’ Which one of the following methods is neither meant for the synthesis nor for
separation of amines?

[A] Rgeer fafer Hinsberg method [B] @IFH« [T Hofmann method

(€] &t AATHRAT Wurtz reaction [D] sfdaa 3fATRAT Curtius rreaction
38. CuO 3 Cu,S & fASOT Y F°AT o7 ¥ fRerar ’5‘ Heating mixture of Cu,O and Cu,S will

give
[A] Cu + SO, [B] Cu+S0;
[C] CuO + CuS ; [D] CusS0s
39. IRTITH & TR H AFATATRT H & T TT L T6 § Which of the following is not true

about Beryllium
[A] Wﬁfﬁﬁﬁ K ICGRIEGIGH %} Forms covalent bonds

[B] 3TudH THd 3gd-dIold T&AT & 6 Hi ghest possible coordination number is 6

[C] Be % gISSIFE3IES Hchlrc\i H 3T g & Hydroxides of Be are amphoteric in
nature

[D] 3relfAfeaa & ary fasmot Red # gdar & Shows diagonal relationship to aluminium
40. ﬂ?’sﬁ Ih %’ Dry ice is
[A] O e SIS3TFASS Solid carbon dioxide
[B] & JAAAT Solid ammonia
[C] FeeT AT B-ﬁWE_S’ Solid carbon monoxide
[D]  YT=AT Water

41. U UeTd STATARET AT SATdT § 79 TEILT HIUT A material is considered hydrophobic
when contact angle is:

[A]  50° ¥ SUTET 81T ¢ Greater than 50°
[B] 90° @ SAGTEIATE Greater than 90°
[C] 90° ¥ Fa §IAT & Less than 90°
[D]  50° 3R 89° & &I & &I § Between 50° and 89°
42. 3Tcgg pl ATIT Ush afEes # Ig g1ar &1 Role of matrix in a composite is to:
1) FeeleT St 3R T TATATIIRT ST To transfer loads to the reinforcement 2)JaeleT Sl
AT Ao werat & =TTl Protect reinforcement from adverse environmental
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effects 3) TXAAT ! TATAcH Yl FT Provide continuity to the structure.  4) 3T
dT9HT FfARIET el T |Provide high temperature resistance
[A] 1,231R 3
[B] 2,3 3R 4
[C] 1,33R 4
[D] 391 T8 All of the above
43. T ITH 3] 37CLN AF 7 10 atm T THRA 1T § | atm & HATA 16 & [4&g 27°C AT

9 |3 %a\am 3T 31T 1Y T ATA & One mole of an ideal gas expands from 10 atm against
a constant pressure of 1 atm at 27°C. The magnitude of work done by the gas is (R= 2

Cal/mol/K):

[A]
(B]
[C]
(D]

1981 Cal
1382 Cal
991 Cal

7282 Cal

44. fFFafAf@a 3@1’3-17 Rl cgoTdH Halerd afsha § Among the following molecules, the
one that is LEAST infrared active is

(Al
(B]
[C]
(D]

3Tl Acetylene
fAYeT Methane

CIEAEE 379T Nitrogen molecule
FTeT AT 3{TFASS Carbon monoxide

45. Tl AR et & TANTR TSI 0T T AT N | 511 & et T T AET &

|Consider an equimolar immiscible mixture of water (Boiling Point 100 °C) and Toluene
(Boiling Point 110 °C). Which of the following statement is NOT true for this system:

[A]

(B]

[C]

(D]

Ig IF AT dT9HTT 9 I deh 3TeldlT SId doh ehl Teh UCh 6d o & H Tcd

T 81 ST | The system will boil at a constant temperature till one of the
components is exhausted in the liquid phase

fHSI0T ST FTUATH ITAT & e 19T Boiling point of the mixture will be less
than that of water

arsq Y ITAT TR I3 ST ok Y Teh Tk WA o gl S | The vapor will
have a constant composition till one component gets exhausted

FaYATH 100 °C 3{R 110 °C & &/ T§9TT | Boiling point will be between 100 °C
and 110 °C
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46. fAAeoR dF FT TH 3ETEI0T & An example of micellar system is:

[A]  HIeT+ qTeAT soap+water

[B] TET+ITAT protein + water

[C]  T&X+ SooileT rubber +benzene

[D]  As;Os3 +Fe(OH)3
47. CH3CHCI, 3R CH,CL. CH,CI & & it dF TATG"aar gl § The isomerism which
exists between CH3;CHCI, and CH,CI. CH,CI is .

[A] Eera) Fﬂﬂj%a? HATGIIAT Functional

group isomerism

ij@?lT HATIAIAT Chain isomerism [B]

[C] T GATGIEAT Positional isomerism [D] HAEIGIIAT Metamerism

48. HBr 51§ CH, = CH — OCH; & TaT fe¥otel 31G€T & a7 dT9ATT 9T TR hear g ar

Soldl %} HBr reacts with CH, = CH — OCHj3 under anhydrous conditions at room temperature to
give

[Al  cH3CHO 3R CH;Br [B] BrCH,CHO 3R CH;0H
[C]  BrCH,- CH,— OCHjs [D] HsC - CHBr - OCHj;
49. ST & HiA AT 3@@3@3 & Which of the following is paramagnetic?
[A] O
[B] N
[C] F
[D] Cl

50. fAr=fAfEd & & foher 3107 & fER0T &1 &X FAH AIHAH R 3TadH § FAH ad |

Which of the following molecule have highest rate of diffusion at the same temperature

[A]  CO;
[B] Cl
[C] N
[D] O

51. ef@a #F o=l GgoTeieT A8T & Which of the following is not combustible
[A] s Butane
[B] 9N Propane
[C] &Y Methane
[D] ifFas Oxygen
52. feAfaf@a A T i TolFEIaRTIIT § Which of the following is an electrophile

[A] H,0
[B] AICI3
[C] NH;
[D] OH
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53. HCI and H,0 & TERFardy fFsmor 7 giar g | Azeotropic mixture of HCI and H,O has
[A] 84% HCI [B] 22.2% HCI
[C] 63% HCI [D] 20.2% HCI

54. TR FHRESHITET 1 FHT g T J {oteT ded H1 gt o o0 Qe §1 & o et

&1 Activated charcoal is used to remove coloring matter from pure substance. It works by

(Al 3ifereensoT & Oxidation [B]  oTgehIoT & Reduction
[C]  f34seT & Bleaching [D]  31f&2Nor & Adsorption
55. 3G T AT Fqrgaar W%i The compressibility factor for an ideal gas is
[A] L3 [B] 1
[C] 2 [D] O
56. g ife fAfHAr a3 3aRadt $r %Ié' % | The unit for first order rate constant is
[A] mol dm™s™ [B] dm’mol's”
[C]  dm’mol’ [D] s
57. AT f@d # T+l Inm & RIS & | Which of the following is equal to Inm?
[A] 9m « [B] 9cm
[C] 10°m [D] 10°cm

58. BTG 3o Glodl & 1T gley aTelT TTATSHAT & §7aT § Phosgene is formed by the reaction

between

[A] HIEHRA 3R TFereret Phosphorus and Oxygen
[B] el 3R TEWX Carbon and Sulphur
[C] e Al 3TFarss 3R Fllie Carbon monoxide and Chlorine
[D] COCE) E'Ié' WBE 3R ABEISIa Carbon dioxide and Nitrogen
59. FIEEH § Carborundum is:
[A] TAfoersT F1eTsE Silicon carbide
[B] HicTIs F1€1838 Calcium carbide
[C] ST seleh Carbon black
[D] f&fdse 318 3iferaTss Silicon dioxide
60. PFAfaf@d 7 g3 B2 8153188 § The most stable hydride among the following is:

[A] NH;
(B] PHs
[C]  AsH;
[D]  BH;
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01. C 21. A AL B
02. A 22, C 42. A
03. D 23. B 43, B
04. B 24. D 44, C
05. A 25. A 45. D
06. B 26. C 46. A
07. B 27. A 47. e
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16. (@ 36. B 56. D -
17. B 37, C 57, C
18. D 38. A 58. C

10, C 39, B 59, A
20. A 40. A 60. A
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